Math in English Brain Teasers level 3 #15

Which number is missing in this puzzle?

314 16 | 12 8 | 5 6 | 2

6|5 10 | 14 14 | 9 10 | 14
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puzzle 3 puzzle 4
What is the missing number What is the missing number
in this brain teaser ? in this pattern ?
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211510
1[2]]5
3119116
1[5]]8
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M:thin English Brain Teasers level 3 #15

Answer to brain teasers

puzzlel: J
Take the difference between the top and bottom to get the middle

number. E - B = 3.

puzzle 2 : 11
The 4 numbers in the 1st square follow a + 1 pattern. + 2 in the

2nd, and so on.

puzzle 3 : 1
The 2 top numbers are double the value of the 2 bottom numbers.

puzzle4: 16
Starting with the numbers follow a +1, +2, +3, +4, +5, +6 pattern.
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